
���������������������������������������������
�������������������������������������
��
	���������������������������������������������

����������
������
����� �����
��
­����������������
��������
�����������������
��������

�������������
�����
�������������������

	���­���	�	��­�­���� �����������������
������������
���������������������������������������������

	���­���	�	��­�­����
����­��� ��������­��������­��­���������

���������������������������

����������������������������������������
�������


�����������������
������	��	�����������	�������������������������������������������������������������	����	��
�����	���������
����������������������������������������


��������������	������������������	�������������������	���������������������������������������	��������������������
����������


�����������������	�������������	��	���������������������������������������������������������������	����
��������		�����������	��������������
���	������������

��������
����������
����

��������
�������
������

�­������������� ������
����������������
���������������������
��	�������������
���������������

2mm Drill bit

x2  ������­���������������­����������
�������­��������������­�������	����


�����������������������
���	�����������������

��������������������������
��­�������������������	����
����������������������	����
����������	�����������

�������
�������������������������������������
������	����������	���������������������
������	�����������������������������	����������
�������������������������������������������������
�����������������������������������������
�������

��������������������������
����������������������������
	��	����������������
	����������

����­������������

��������
���������������

� ��­��­��������


�����������­������ ��­���������­��������­�������  ��

����	��������	��������������������������������������������������������������������������

� �������������������������������������������������������������������������������������
��������������������������������
������

������������������������������	��������	����������������������������

�����������������������������������������������	����������������������������������������

 ��������������������������� ����

���������������������������������������������������������������������������������������		�����������������	���
�����������������������������������������������������������

 ����������������������������������	��������������������������������������������������������������������	�������
�����������������������

������

�������������������������������������	���������	���������������������������	����������������������������������������
�����������������������������������������������������������		���� �����������������������������		������������	�������
���������������������������������������������������������������������	������	���������������������	��������������������
��������������������������������������������������������������������������������������������������������������������
��	�����������������������������������

��	����������������������������������������������������������������������������������������������������������������������
����������������������������������������������������������������������������������������������������
���������������

����������������������
������������������������������������������	��������������������	���������������������������������
���������������������
���������������������������
��������������������������������������������������������
����������������������������������
�
�����������������������������������������������������������������������������

��� ���������­�
 ������������������������������������������������������������������������	������	�����
���������������������������		������������������������������	����������������������������

��������������������������������������������������������������������������������������������������������������������������
��������������������������������������������������������������������������������������������	���������������������������
������	�����������������������������������������	����������������������������������������������������������������������
������������������������

����­������­�

����	����������������������������������
	����

����������������������������������

� �����������

��������������
����������������
��������
���������������������
��
��������������
��������������������
���������
�����
��
����
�����������
����������������������������������������������������������������������������������������������
���
����



	���­���	�	��­�­���� �����������������
������������
���������������������������������������������

������ �­�

������������������	���������������������������������������������������������

�������������������������������������������������������

���	���������������������������	�������������������������	��	������	���������������

���	����������������������������������

���	������������������������	�������������������
���������������������������
�����
	�����������������������������������
��
������������������������������������������	���

�����������������	��������������������������������	��������������������	��

�����������������	����������������������


������������������������������������������������������������������������
����������������������������
��������
��������
�������������������������
����������

����������������������������������������������������	����

�������������������������������������������������������������������

����������������������������������������������������������������������������������
�����

���������� �­�

������
�����������	���������
�����
�������������
�����������������������������
������������
��������
������������
�������������
��������������������������
����������
������

����	��������� ������������

 ���������������������

�����������������������������������
��������
��������
��������

������� ������������������������
��������������������	�
��������������������������

�������­����­¡�
����
���������
������������

�������������
�����
�������������������

�����������­������

�����������������������������������������������������
�����������������	����	���������������������������	����
��������������


������������������	�����������������������������������	��
������������������������������������	������

�������

���������������	�������������	���	����������	�����

���� ����������������������

����������������������	��	�����

����������������������������������������������������¡���
������������������
��������������������������	��
��������

����­



�������������
�����
�������������������

�����������������
������������
���������������������������������������������

12x6 Pent & Right Side Shed 
Area
Overall Dimensions:
Width = 3615mm 
Depth = 2331mm 
Height = 2170mm

Base Dimensions: 
Width = 3497mm 
Depth = 1753mm

12x6 Pent & Left Side Shed Area
Overall Dimensions:
Width = 3615mm 
Depth = 2331mm 
Height = 2170mm

Base Dimensions: 
Width = 3497mm 
Depth = 1753mm

14x6 Pent & Right Side Shed Area
Overall Dimensions:
Width = 4174mm 
Depth = 2331mm 
Height = 2170mm

Base Dimensions: 
Width = 4055mm 
Depth = 1753mm

14x6 Pent & Left Side Shed Area
Overall Dimensions:
Width = 4174mm 
Depth = 2331mm 
Height = 2170mm

Base Dimensions: 
Width = 4055mm 
Depth = 1753mm

Before assembly  
please make sure you have a 

suitable base ready to erect your 
building 

 

MADE IN GREAT BRITAIN

Pack Requirement:
03DTSHPN0806FGD1TW-V1
03DTSHPN0406DSHSA-V1

Pack Requirement:
03DTSHPN1006FGD2TW-V1
03DTSHPN0406DSHSA-V1

Pack Requirement:
03DTSHPN1006FGD2TW-V1
03DTSHPN0406DSHSA-V1

Pack Requirement:
03DTSHPN0806FGD1TW-V1
03DTSHPN0406DSHSA-V1



�������������
�����
�������������������

�����������������
������������
���������������������������������������������

Nail Bag
There may be extra screws present in the nail bag 

Door Panel QTY 1
AI-03S11SHDD1147X2075-V1

Back Panel QTY 1
AI-S11SHPP1147X2015-V1

Side Panel QTY 1
AI-S11SHDBPGT1707X1904-V1

Floor QTY 1
AI-R11MBF1133X1753-V1

Roof QTY 1
AI-S21MBPR1147X2305-V1

Under Roof QTY 1
AI-S11MBURF1147X484-V1

Double Gable Top QTY 1
AI-S21SHDBPGT1707X228-V1

Back Cover Trim - 12x40x2035mm QTY 1
S1240-2035mm

9

Front Cover Trim - 12x40x2070mm QTY 1
S1240-2070mm

10

Fascia Trim - 12x95x1147mm QTY 2
S1295-1147mm

11

Door Cover Trim - 12x60x780mm QTY 2
S1260-780mm

1 2 3 4

5 6

Door QTY 2
AI-S11FBMBZBD479X1680-V1

8

7

12

Roof Framing - 28x28x1147mm QTY 1
FS2828-1147mm

16 18

14

15

Door block - 28x28x150mm QTY 4
FS2828-150mm

Gable Frame - 27x44x1707mm QTY 1
F2744-1707mm

17

13

Pad Bolt QTY 1
PI-07-0035

T-hinge QTY 6
PI-07-0021

Turn Button QTY 4
PI-07-0034

Felt
PI-01-0013

19

50mm Screw x 42 

Felt Tacks x 70

30mm Screw x 78

60mm Screw x 4

40mm Screw x 12 

20mm Screw x 6

70mm Screw x 8

Contents:



�������������
�����
�������������������

�����������������
������������
���������������������������������������������

Before assembling remove the transportation
blocks from the bottom of each panel.

Take care removing the blocks as to not damage
the panels. Tap with a �at headed screwdriver 
and hammer.

Dispose of the blocks once removed.

8x6 Pent Summerhouse
03DTSHPN0806FGD1TW-V1

10x6 Pent Summerhouse
03DTSHPN1006FGD2TW-V1

Pre Assembly
Follow the instructions for the 8x6 Pent Summerhouse 
(03DTSHPN0806FGD1TW) or the the 10x6 Pent 
Summerhouse (03DTSHPN1006FGD2TW), however 
DO NOT attach the Felt, Rear Cover Trims or the 
Fascia Trims. 

Not attaching these parts allows the extension to be 
�xed in place.

Your building should look as shown.

1

8
8

16

12

Pre drill 
hole

30mm 
screw

20mm 
screw

16

Step 1
Parts Needed - No. 1 QTY 1
   - No. 8 QTY 2
   - No. 12 QTY 2
   - No. 16 QTY 6

Fix the T-hinges (No.16) to each of the Doors 
(No.8) with 4x30mm screws per hinge 
making sure to  screw into the framing on 
the rear of the Doors.

Once the T-hinges are �xed into position lay 
the Door Panel (No.1) �at on the ground �x 
the door in position using 3x30mm screws 
per hinge.

To create a Master and Secondary door �x 
the Door Cover Trims (No.12) to one of the 
doors overlapping with the other door as 
shown using 3x30mm screws per trim.

6x20mm Screw
42x30mm Screws

12

IMPORTANT: Pre-drill before �xing screws.



�������������
�����
�������������������

�����������������
������������
���������������������������������������������

Step 2
Parts Needed- No. 4 QTY 1

Place the Floor (No.4) up against the 
Pent Summerhouse on a �at, level 
surface. Fix into position using 
4x60mm screws as shown.  

**To position the side shed on the 
left, position the �oor on the left and 
�x in the same way shown.**

4x60mm Screws

Pre drill 
hole

60mm 
screw

4
**The 8x6 Pent Summerhouse has 
been used for illustrative purposes.  
The construction process is the same  
regardless of the size of the 
Summerhouse.**

IMPORTANT: Pre-drill before �xing screws.

Step 3
Parts Needed - No. 1 QTY 1 

Fix the side of the Door Panel (No. 1) 
against the side of the Pent 
Summerhouse Side Panel as shown 
using 4x50mm screws.
 
Do not secure the building to the 
Floor until the roof is �tted.  

4x50mm Screws

Pre drill 
hole

50mm 
screw

1

IMPORTANT: Pre-drill before �xing screws.

IMPORTANT: Pre-drill before �xing screws.

Pre drill 
hole

50mm 
screw

Step 4 
Parts Needed- No. 2 QTY 1

Fix the side of the Back Panel (No. 2) 
against the side of the Pent  
Summerhouse Side Panel as shown 
using 4x50mm screws.
 
Do not secure the building to the 
Floor until the roof is �tted. 

4x50mm Screws

2

Pre drill 
hole

50mm 
screw

12 3

Step 5
Parts Needed- No. 3 QTY 1  
Fix the Side panel (No.3) to the Door 
(No.1) and back panel (No.2) using 
3x50mm screws at each corner.

*Pent Summerhouse not shown*
 
Do not secure the building to the 
Floor until the roof is �tted. 

6x50mm Screws

IMPORTANT: Pre-drill before �xing screws.



�������������
�����
�������������������

�����������������
������������
���������������������������������������������

IMPORTANT: Pre-drill before �xing screws.

Pre drill 
hole

50mm 
screw

Step 6
Parts Needed- No. 7 QTY 1

Place the Double Gable Top (No. 7) on 
top of the Side Panel (No. 3) slotting the 
boarding of the Gable over the top of 
the boarding of the side panel as 
shown.

Fix with 4x50mm screws per gable top 
as shown in diagram.

4x50mm Screws
7

3

Internal Edge 

External Edge 

7

IMPORTANT: Pre-drill before �xing screws.Step 7
Parts needed - No. 15  QTY 1

Place the Gable Frame (No.15) to the 
top of the gable as shown and �x with 
3x50mm screws. 

Fix with 3x50mm screws per gable top 
as shown inthe diagram.  

3x50mm Screws

Pre drill 
hole

50mm 
screw

15

Step 8
Parts needed - No. 5  QTY 1
  - No. 13 QTY 1

50mm 
screwPre drill 

hole

Fix the Roof Framing (No.13) to the 
roof (No.5) using 4x50mm screws, 
screwing through the Roof Framing and 
into the roof below.

Ensure the Roof Framing is �ush to the 
edges of the roof framing before 
securing.

4x50mm Screws

13

5

IMPORTANT: Pre-drill before �xing screws.



�������������
�����
�������������������

�����������������
������������
���������������������������������������������

50mm 
screwPre drill 

hole

Step 9
Parts Needed- No. 5 QTY 1

Place the Roof Panel (No.5) on top 
of the building, ensure the Roof 
framing (No.13) slots over the back 
panel.

Fix the roof panel onto the 
extension using 8x70mm screws as 
shown. Ensure there is no more 
than 300mm between each screw. 

Secure the roof to the 
Summerhouse roof internally using 
4x50mm screws through the roof 
bearers, as shown in the diagram.

4x50mm Screws 
8x70mm Screws

70mm 
screw

13

5

IMPORTANT: Pre-drill before �xing screws.

Pre drill 
hole

30mm 
screw

6

IMPORTANT: Pre-drill before �xing screws.Step 10
Parts needed - No. 6 QTY 1

Place the Under Roof Panel (No. 6) into 
position, making sure it is �ush to the 
front of the building.  Using a pencil mark 
on the under roof panel where the roof 
panel framing is to use as a guide for 
�xing into place. 

Fix in place making sure to screw through 
in to the Roof framing.  Pre-drill holes 
�rst.

12x30mm Screws

50mm 
screwPre drill 

hole

Step 11
Once the Roof is in position the 
extension can be �xed in position.

Fix the building in place by using 
13x50mm screws.

13x50mm Screws

IMPORTANT: Pre-drill before �xing screws.



�������������
�����
������������������¢

�����������������
������������
���������������������������������������������

Felt 
tacks 

19

HANDLE
WITH CARE

1 2

3

4

Step 12
Parts needed - No. 19 QTY 1

Cut the Felt (No. 19) into 3 sheets: 

8x6 Summerhouse: 
3691mm (L) x 1000mm (W).

10x6 Summerhouse: 
4250mm (L) x 1000mm (W).

Lay the sheets onto the roof, starting at the 
back and working towards the front, as 
shown in the diagram.

Ensure there is approximately 50mm of 
overhang around the building.

Fix into place using Felt Tacks at 100mm 
intervals. 

170 x Felt tacks

1.2.3.

9

10

Step 13
Parts Needed - No. 9 QTY 1
   - No. 10 QTY 1

Fix the Cover Trims  (No.9 & 
No.10) plus the remaining 
cover trims from the Pent 
Summerhouse into place over 
the panel joins using 3x40mm 
screws per Trim.

24x40mm Screws

40mm 
screwPre drill 

hole

IMPORTANT: Pre-drill before �xing screws.

11

11

Step 14
Parts Needed - No. 11 QTY 2

Fix the Fascia Trims (No.11) 
plus the remaining Fascia Trims 
from the Pent  Summerhouse 
into place using 3x40mm 
screws per Trim. 

24x40mm Screws

40mm 
screwPre drill 

hole

IMPORTANT: Pre-drill before �xing screws.

100mm



�������������
�����
�������������������	

�����������������
������������
���������������������������������������������

Step 15
Parts Needed- No. 14 QTY 2
  - No. 18 QTY 1

Fix two Door blocks (No.14) to the 
back of the Doors (internally) with 
2x30mm screws per block going 
through the front of the door 
boards and into the block behind.

Fix the Pad Bolt (No.18) to one of 
the Doors (No.8) using 12x30mm 
screws. 

16x30mm  Screws

30mm 
screwPre drill 

hole

18

1414

IMPORTANT: Pre-drill before �xing screws.

17

14

Step 16
Parts Needed- No. 14 QTY 2
  - No. 17 QTY 2

Fix the Door blocks (No.14) to the top 
and bottom of the Doors (internally) 
with 2x30mm screws per block going 
through the front of the door boards 
and into the block behind

Fix one Turn Button (No.17) to each of 
the Door blocks (No.14) using 
1x30mm screw per turn button.

6x30mm  Screws

30mm 
screwPre drill 

hole

IMPORTANT: Pre-drill before �xing screws.

IMPORTANT: Pre-drill before �xing screws.

Pre drill 
hole

30mm 
screw

17

Step 17
Parts needed - No. 17 QTY 2

Fix the Turn Buttons (No.17) above 
each of the Doors using 1x30mm screw
per turn button.

2x30mm Screws

*These turn buttons help to keep your 
doors straight during high & low 
levels of moisture content in the air.



�������������
�����
��������������������

�����������������
������������
���������������������������������������������

It is ESSENTIAL that you apply wood 
treatment immediately after the building 

has been assembled.

AFTER TREATMENT:
score around protective

 cover on glazing and
 carefuly peel

 covering back



����������������������������������������������������������������������������	������
�������������������������������������������	�����¡��������	�����������������	���������	�����
��������������������

 �������������������������������������	������������������������������

��������������������������������������������������	��������	�����������������
���������������������������
	����

������������������������������������������������������¡������������������������
��������������������������������������

������������	�������������	������������	������������������������
�������������������
��������������������¡���������������������������	�����������������������������������
���������������������������������������������������������

������������������������������������������������¡������������������������

��������������������	������������������������������������������������������������������
���������������������������������������������������������������������������������������

�����������������������������¡������������	�����������������������������������������
�������������������������	����������	����������������������������������������������������
�������������������������	�������
������������	���������������������������
�����������
���������������������������������������������������������������������������������������
¢�������������������������������������������������������

�����������������������������	���������������������������	��������������������������
�������	�����������������������	�������	������������������������������������	�����

�������������������������������������������������������	������������	�������������
��������	��	��������	��������������	����������

������������������������ ����

�������������������������¡���������������������
��������������	�������������������	��������������������������������������������	������������������������������������	������������������������
	����������������	���������������	����	��������������������������������	�����������������������������	���������������������������������¡���	��	�������������������¡����������������������
	������������������	����	��������������������������������������������������������������������������������������	�������������������������������	��������������������������������������������
	�����¢������������������	����������������������������

����������
�����
�����
������������������������������������������	��������������������	������������������������������������������������������
���������������
�����
�����
��������������������������������������������������������
 ���������£��������
����
���������
�
�����������������������������������������������������������������������������

�������������
�����
��������������������

�������������������������������� ���� �����������������
������������
���������������������������������������������

�������­����­¡�
����
���������
������������

��� ����������������

��������� �
�������­­��� �

� ��­��­������������
­������������������




�����������������������

�������������
�����
��������������������

�����������������
������������
���������������������������������������������

�

�����������������������������

��������	����������������������������	��	����������������	������	����������������������������
�����	�����������������������������������������������������������������


����	��������������������	���������������������������������������������


����	����������������������������������������������������������������������������������


����	���������


������	������	���������������		�����	�����������������	�������������	�������


����	������	�����������������������������	�����


�����������������	�����£�	��	������������������	����������������

������­������¤­����������������������������������������� �������������¥���

���������

���	������������������������������������	�����������������������������������������������
�������	����	�����������������������������������������	������	��������������������������
��������������	����	������������������������������������������������������������	��

������

�����	����������������������������������������	����������������������	��	���������������

���������������������������		�����	�����	�����������������
�������������	��������������
	�����������������	��	��������������

����

���	������������������������������������������������������������������������������������	��
��������������������������������	����	����

�����������
���

��������������	�����	�����	���	�����������������������������	�������	��������	�������
��������������¢�������������������������������	���������������������������������������
��������������������

���

�������	������¤���������������������������	������������������������	������������

­�������������

�����������������	��	�������	�������������������������������������������������������������
	���������	���	������������������	�����������������������������������������������
������������	����������������������������������������	�����	������������������������
�������������������������������

����


����������	������������������������������������������������������������������	��������
������������������������������������		������������������������

������


����������������	�������������������������������������	���������������	��	���	���������
����������������������������������������������������������������������������	������������
��������������������������	�����������������������������������������

��	���������������������������������������������	���	��������������	����	����������������
����������������������������������������������������������������������	��������	������
������������������������������

����������
�

��������������	��	�����	�����������������������������������������	���������������������������
	������������������������������������������	�����������	�������������������������������

���������	�����������������������������������		�����	�������	�������������������������
�����	���������������������������	����������������������������������������	�����������������
���������������������

1

2

3

4

5

6

7

8

9



������
����������������������������������¦����
�����������������


­�����������
���������
������������������������	������	��������������������
���������������������������������������������������������	���������������������
	������������������������������������������������������������������������
	��������������	���������������������	����������������������������������������
	�����	������
������	����������������������������������		����
������
��������������������������������������������������������	���������������������
���	����������������������������

����������������������������������������������������������������������
������������������������������������	�������	���������������������������������������
�����������������������	����������������������������������������������������������
��������������������������������������������������������������������������
�������

�������
�����
�����������������������������	�������������	����������	���
���������������	�������������������������������������������������������
����	�������������������������������������������	��������������������������
����������������������������������������������������������������������������������
	�����������������������

��������������������
���������������������	���������������������������
���������������������������������������������������������������������������
	��	������� ���������������������������������������������������������������
�����������������������������	������������������������������������������������������
�������������������������������������������������������	����������������
����
������	����������������������������������������������������	���������
����������	���������������������������������������������

­����������������
�������
�������������	�������������������	��	�����������
	�����������������������������������������������������������������������������
���	����������	��������������������������������������������������������������������
	�������������������������������������������������������

­���
���������������		��������������������������������
����������������������������������������������������
������������������������������������������������������
����������������������������	���������������������������
�������������������	�������������������������������
��	���������������������������������������������������

����������������������������������������	��������
��������������������������������������������������
�������������������������������������	��	������

������������§­���������������­


������������������������������������������������������������������������������������
����������������������������������������������� ����	��������������	��	������
	��	�������������������������������	���������¥���������¡�

�������������������������������������������������������������������������
�������������������	���������������������������������	�������������������������������
������������������������������������������������������

 ���������	������������������������������������������������������������������
������������������������������������������������������

�

�������������������������������
�������
������2


��������������	�������������������������������������������������������������
����������		�����������������	�������������������������������������������������
�������������

 ����������������������������������	������������������������������������������
��������������������������	������������������������������

������������������������������������������������
�������
������1

�¨������������������

��	��������������������������������������������������������������������������������
���������������������������������������������������������������������������������
�����������������������������������������������������������
��������������

����������������������
������������������������������������������	������������������
��	��
����������������������������������������������������
���������������������������
�������������������������������������������������
��������
����������������������������������
�
������������������������������������
�����������������������������������������

 ���������	�������������������	��������������������������������������������
��������������������������������������������������������������������������
���������

�������������	������������������	��	����������������������	������������
�		���������

3

4 ����������������������
����
�����������������

��������
������������������������������������������	��������������������������
�������������������������������������������������������������


��������������������¦

�����	������
��������������	��

��������
��������������

�������������
�����
��������������������

�����������������
������������
���������������������������������������������


�����������������������������������������������������	�����������	��������
�������������������������	������������������������������	����������������������������
����������������������������������������������	���������������������������������������
����������������	��������	��������������������	�����¡����	�������������������������
���������������������	�������������	���������������	�§



����­������������

��������
���������������

� ��­��­��������


�����������������������


������	���������������	������������������������������������������������������������
������	�����������	���
�����������������������	���������������������������������������������������	��������
�����

������������������������������������������������������		���

��������������������������	�����������������������������������������
���������������	�������������������������������	����������������������
����
�������������������	����������������������������������
��������������������������������������������	�������������		�����	���������
���������������������	�����¡����	��������������
�������������������������������������������������������������������	�����¡��
��	������������������������������	��������������������������������	�����
���������������������������������	���������������������������������������������
������	������
���������������������������������	��������������������¤��������������������������
	��	���������������������	�������������������������������
�����������������������������������	������������������������������������	��������������
������������������	�����	������	��	������������������������������������������
¨�������������������������������	����	��������������������������������������������������
���������������������������������
�����
���������������¢�����������������������������������������������������	�������
��������������������������
�����
�������������������	��������	��������������������������������������	���������
���������	��
��������������

������������§����������1 2 ������������������

���	���������������	����������������������
������������������������������������
�����������������������������������������������������������������	�������������������
	����������������������������������	�����������������������	������	����
�����������������������������������������������������������������������������
������	�����¡����	��������������������������������������������������������������
�����������������������
������������������������	���������������������������������������������������	���
����������

�������������������������������������������������������		���

�������������������������	�����������������������������������������
���������������	�������������������������������	����������������������
����
�������������	����������������������������������
���������������������������������������������	�������������		�����	���������
���������������������	�����¡����	��������������
�������������������������������������������������������������������	�����¡��
��	������������������������������	��������������������������������	�����
���������������������������������	���������������������������������������������
������	������
���������������������������������	��������������������¤��������������������������
	��	���������������������	�������������������������������
�����������������������������������	���������������������������	���������������������
�����������	�����	������	��	������������������������������������������
¨�������������������������������	����	�������������������������������������������������
���������������������������������
�����
���������������¢�����������������������������������������������������	�������
��������������������������
�����
�������������������	��������	��������������������������������������	���������
���������	��
��������������

�������������
�����
��������������������

�����������������
������������
���������������������������������������������


